Project 1

Car Jack Assembly

In this project, you will create components for a Car Jack assembly and then assemble them.
You need to create all the components as separate part files. The views and dimensions of the
components are shown in Figures P1-3 through P1-18.

You can also download the model files for your reference from www.cadcim.com. To download
the files, use the following path: Textbooks > CAD/CAM > Siemens NX > Siemens NX 2020 for
Designers, 13" Edition > Projects for Free Download > Project 1




P1-2 Siemens NX 2020 for Engineers and Designers

Figure P1-1 The Car Jack assembly

PARTS LIST
ITEM PART NUMBER QTYy
1 Wack Base 1
2 Wack Bottom leg 2
3 M12X1.75 Hex Bolt 2
4 M12X1.75 Nut 2
5 lJack upper leg 2
[ Wack Pin with thread 2
7 lack Cap 1
8 M10X1.5 Hex Bolt 2
g M10X1.5 Nut 2
10 [Screw Base 1
11 lack Motor Case 1
12 Wack Rotor 1
13 lJack Screw 1
14 Manual Screw 1
15 MEX1.0 Nut 4
16 MEX1.0 Hex Bolt 4

Figure P1-2 The exploded view of Car Jack assembly



Project 1

P1-3

4XR10\(\/4XR10 1 ]
. i . i i 17
i I
Nl R LT
|
ot ™~
RN
G
150 |
| 75 | 37.5 —
2X 12 | ?
O N\ Is
18]
=—235 57.5 1 ~ %

Figure P1-3 Orthographic views and dimensions of Jack Base



P1-4 Siemens NX 2020 for Engineers and Designers

16
S s

L L
w | |
Q

i

|

o

1 Q ©

| -~ N~

|

|

|

||

A1 N

R 10 @12 - 36~

Figure P1-4 Orthographic views and dimensions of Jack Bottom Leg

/—2X @10

40

3 4
| AL =)
B || ? b
36 / 25 15
50 2XR5

55

Figure P1-5 Onrthographic views and dimensions of Jack Cap



Project 1

P1-5
54> - —— <—5
210 ] ]

il n n
o
O
~

R250 — | s s

216- 2X R12.5 ~—26—
Figure P1-6 Orthographic views and dimensions of Jack Upper Leg
M12X 1.75
R8

50 — }— 6.9

Figure P1-7 Orthographic views and dimensions of Jack Pin with thread



P1-6 Siemens NX 2020 for Engineers and Designers

‘ — 2XR5

i T «—»rw5 = 24 @12
D F e

n RS
D O
Lso»‘ 5—=] |=—
4X26 — 100

Figure P1-8 Orthographic views and dimensions of Screw Base

50

20— —=—20—
60

—

70




Project 1 P1-7

20

| 42
r Y !
16.5
T 33
20 THRU— T , {
l l
e | ! | G»—lg
4
/———J——I—J———- NOTE:
4X @6 THRU - ALL ROUNDS, R5
I G-
ud | ! | 1
Y
50 -5
67 |
@54 - |
| |
N
Iy
- - | ‘ 1| 45
L
L
l ! l
N e I 10
10— 10F ?
20 \

Figure P1-9 Orthographic views and dimensions of Jack Motor Case



P1-8 Siemens NX 2020 for Engineers and Designers
M12X1'75\j 210 i »1_‘«10 218
—— T
— i &8
1X 45° 300 - 15‘« 10
Figure P1-10 Orthographic views and dimensions of Jack Screw
@20

010

Figure P1-11 Orthographic views and dimensions of Jack Rotor



Project 1 P1-9

(R6)

R15
315

R80

~—25

| oo
316 =

%l k25—>| 12’«

Figure P1-12 Orthographic views and dimensions of
Manual Screw



P1-10

Siemens NX 2020 for Engineers and Designers

60

M10X 1.5/:
s
0.75X 45°_/

Figure P1-13 Orthographic views
and dimensions of the M10X 1.5 bolt

M10X 1.5

|—— OO ——]

Figure P1-14 Orthographic views and
dimensions of the M10X 1.5 nut



Project 1

P1-11

RN WP ——

M6X 1.0/

|
|
|
|
|
|
|
|
|
|
|
|
!

0.5X 45°

Figure P1-15 Orthographic views and
dimensions of the M6X 1.0 bolt

M6X 1.0
/ | |
30°
/\‘ :] E 4&2
\

Figure P1-16 Orthographic views and dimensions
of the M6X 1.0 nut



P1-12 Siemens NX 2020 for Engineers and Designers

f
30° 8.4
\/

M12X 1.75
19.2
70
s H 30° ‘
A 24 ; |
M12X 1.75 s \ y i 0.6
| !

0.75X 45°

Figure P1-17 Orthographic views Figure P1-18 Orthographic views and dimensions
and dimensions of the M12X 1.75 bolt of the M12X 1.75 nut



